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DATA HANDLING

1. In a unit test Amar secured 20, 18, 23, 21, 24
and 22 marks in Telugu, Hindi, English,

Mathematics, Science and Social Science


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C29fbnp76WSe

respectively. Peter got 23, 21,20,19,24 and 17
marks in the above subjects respectively.
Interpret the data in the organize manner. The
ages (in years) of players are in a team of 16,
16, 16, 14, 17, 18. Then find the following. i) Age
of the youngest and the oldest ii) Mean age of

the players.

o Watch Video Solution

2. What is the average number of glasses of

water that you drink per day in a week? How


https://dl.doubtnut.com/l/_C29fbnp76WSe
https://dl.doubtnut.com/l/_J6DJCtPzr2gE

did you find the average?

o Watch Video Solution

3. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as
26°C,27°C,30°C, 30°C,32°C,33°C and
32°C : What is the maximum temperature of

the week?

° Watch Video Solution



https://dl.doubtnut.com/l/_J6DJCtPzr2gE
https://dl.doubtnut.com/l/_EZVmdPaHZz0O
https://dl.doubtnut.com/l/_oEw5pA7xDlWd

4. Rice consumed in a school under the mid-
day meal program for 5 consecutive days is
15.750kg, 14.850kg, 16.500kg, 14.700Kg and
17.700 kg. Find the average rice consumption

for the 5 days.

o Watch Video Solution

5. In a village three different crops are
cultivated in four successive years. The profit
(in rupees) on the crops, per acre is shown in

the table below. i) Calculate the mean profit


https://dl.doubtnut.com/l/_oEw5pA7xDlWd
https://dl.doubtnut.com/l/_7azINutGGgm2

for each crop over the 4 years. ii) Based on

your answers, which crop should be cultivated

in the next year?
Crogp | 2008 | 2008 | 2007 (2008
Coroainad muts | TINK | BODO | 75400 | TSO0
Jwwnr i) | NODD | RO | 10D
Milkeis SO0 | SOOD | SO | 0D

° Watch Video Solution

6. The number of passengers who travelled In
RTC bus from Adilabad to Nirmal in 4 trips in a

day are 39, 30, 45 and 54.What is the average


https://dl.doubtnut.com/l/_7azINutGGgm2
https://dl.doubtnut.com/l/_Csw6wCcow5CA

number of passengers travelling per trip in a

day?

o Watch Video Solution

7. The following table shows the marks scored
by Anju, Neelu and Lekhya in four unit tests of
English. i) Find the average marks obtained by
Lekhya. ii) Find the average marks secured by
Anju. Will you divide the total marks by 3 or 4?
Why? iii) Neelesh has given all four tests. Find

the average marks secured by him. Will you


https://dl.doubtnut.com/l/_Csw6wCcow5CA
https://dl.doubtnut.com/l/_OeQD5wmqEw1l

divide the total marks by 3 or 4? Why? iv) Who

performed best in the English?
Mamie of the Student | Unit Test 1 | Unit Test 1T | Undt Test IIT | Undt Test TV
Anju Absent 1% 23 21
Meslesh 0 20 12 24
Lakhya 20 4 14 24

o Watch Video Solution

8. Three friends went to a hotel and had
breakfast to their taste, paying %16, ¥17 and
¥21 respectively i) Find their mean
expenditure. ii) If they have spent 3 times the
amount that they have already spent, what

would their mean expenditure be? iii) If the


https://dl.doubtnut.com/l/_OeQD5wmqEw1l
https://dl.doubtnut.com/l/_8fXBPk1rfsag

hotel manager offers 50% discount, what
would their mean expenditure be? iv) Do you
notice any relationship between the change in
expenditure and the change n mean

expenditure?

o Watch Video Solution

9. Find the mean of the first ten natural

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_8fXBPk1rfsag
https://dl.doubtnut.com/l/_RVOFQ3yVGexP
https://dl.doubtnut.com/l/_0jjcOZBgayaF

10. Find the mean of the first twenty natural

numbers.

o Watch Video Solution

11.In a set of four Integers, the average of the
two smallest integers is 102, the average of
the three smallest integers is 103, the average
of all four is 104. Which is the greatest of

these integers?

o Watch Video Solution



https://dl.doubtnut.com/l/_0jjcOZBgayaF
https://dl.doubtnut.com/l/_NDyNFxygno0V

12. Write at least two questions to find the

mean, giving suitable data.

° Watch Video Solution

13. A batsman scored the following number of
runs in six innings 36, 35, 50, 46, 60, 55.
Calculate the mean runs scored by him in an

inning.

o Watch Video Solution



https://dl.doubtnut.com/l/_qvKso8KMZQLv
https://dl.doubtnut.com/l/_9olyKIhHeRND
https://dl.doubtnut.com/l/_LSQMkHkU9k5h

14. Find the mean of first five whole numbers.

o Watch Video Solution

15. The heights of 10 girls were measured in
cm and the results are as follows. 135, 150, 139,
128, 151, 132, 146, 149, 143, 141. i) What is the
height of the tallest girl? ii) What is the range

of the data?

o Watch Video Solution



https://dl.doubtnut.com/l/_LSQMkHkU9k5h
https://dl.doubtnut.com/l/_VCdOVxLLvqht
https://dl.doubtnut.com/l/_9y6RHByICQAg

16. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as
26°C,27°C, 30°C, 30°C, 32°C,33°C" and
32°C : What is the maximum temperature of

the week?

° Watch Video Solution

17. Find the mean of the first ten natural

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_9y6RHByICQAg
https://dl.doubtnut.com/l/_oXBUyMB6yxg9

18. The mean of first five prime numbers is ......

o Watch Video Solution

19.1n a set of four Integers, the average of the
two smallest integers is 102, the average of
the three smallest integers is 103, the average
of all four is 104. Which is the greatest of

these integers?

o Watch Video Solution



https://dl.doubtnut.com/l/_oXBUyMB6yxg9
https://dl.doubtnut.com/l/_O80GQt6pbzpR
https://dl.doubtnut.com/l/_KauRqcSdQegS

20. Find the modes of the following data. i) 5,
6,3,54,9,5,6,4,9,5ii) 25,14, 18, 15, 17, 16, 19,

13,12, 24 iii) 10, 15, 20, 15, 20, 10, 15, 20, 10

o Watch Video Solution

21. Long jumps by 7 students of a team are
98cm, 125cm, 140cm, 155cm, 174cm, 140cm and

I55cm. Find the mode of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_LRRw7ImQ8pwF
https://dl.doubtnut.com/l/_CwNckYZHIayv
https://dl.doubtnut.com/l/_6hnBdAGUVYCF

22. Ages of players in a cricket team are 25, 26,
25, 27, 28, 30, 31, 27, 33, 27, 29, Find the mean

and mode of the data.

o Watch Video Solution

23. Find the mode of the following data 12, 24,
36, 46, 25, 38, 72, 36, 25, 38, 12, 24, 46, 25,12,24

46,25,72,12, 24, 36, 25, 38 and 36.

o Watch Video Solution



https://dl.doubtnut.com/l/_6hnBdAGUVYCF
https://dl.doubtnut.com/l/_lMZpEOawots3
https://dl.doubtnut.com/l/_uqfWzahId3K8

24. Decide whether mean or mode is a better
representative value in the, following
situations. i) A shopkeeper, who sells tooth
paste tubes of different sizes, wants to decide
which size is to be ordered more. ii) An
invigilator wants to bring sufficient number of
additional papers to the examination hall. iii)
Preparation of the number of laddus for a
marriage. iv) For finding the favorite cricketer

in a class.

o Watch Video Solution



https://dl.doubtnut.com/l/_uqfWzahId3K8
https://dl.doubtnut.com/l/_YeLFCPKFEtW6

25. Find the mode of the numbers 2, 2, 2, 3, 3,

4,5,5,5,6,6, 8.

o Watch Video Solution

26. Find the mode of the data 13, 16, 12, 14, 19,

12,14, 13, 14.

o Watch Video Solution

27. What is the mode of first 10 natural

numbers?


https://dl.doubtnut.com/l/_YeLFCPKFEtW6
https://dl.doubtnut.com/l/_REYA49Uc5D1m
https://dl.doubtnut.com/l/_APeBrIOuCeAF

° Watch Video Solution

28. Find the Range of first 10 natural numbers.

° Watch Video Solution

29. Say true or false and why? The difference
between the largest and smallest observations

in a data set is called the mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_APeBrIOuCeAF
https://dl.doubtnut.com/l/_qS8Kar0qyMh0
https://dl.doubtnut.com/l/_1EHCYCY4Khpf
https://dl.doubtnut.com/l/_rYAWCKTSVyrh

30. Say True or False and why ? In a bar graph,
the bar which has greater length may contains

mode.

° Watch Video Solution

31. Say true or false and why? Value of every
observation in the data set is taken into

account when median is calculated.

° Watch Video Solution



https://dl.doubtnut.com/l/_rYAWCKTSVyrh
https://dl.doubtnut.com/l/_yLhqNrB9cllt
https://dl.doubtnut.com/l/_BbhA07YlMNai

32. Say true or false and why? The median of a

set of numbers is always one of the numbers.

° Watch Video Solution

33. The monthly income (in rupees) of 7
households in a village are 1200, 1500, 1400,
1000, 1000,1600, 10000. If one more household
with monthly income of Rs. 1500 is added,

what will the median income be?

° Watch Video Solution



https://dl.doubtnut.com/l/_BbhA07YlMNai
https://dl.doubtnut.com/l/_zFQl3H82SiH1
https://dl.doubtnut.com/l/_10gCT4Wlzm2j

34. Observations of a data are 16, 72, O, 55,
65,55, 10 and 41. Chaitanya calculated the
mode and median without taking the zero into
consideration. Did Chaitanya do the right

thing?

° Watch Video Solution

35. How many distinct sets of three positive
integers have a mean of 6, a median of 7, and

no mode?

| €8 |


https://dl.doubtnut.com/l/_10gCT4Wlzm2j
https://dl.doubtnut.com/l/_qiwJQ5FNTAVU

| ¥ Watch Video Solution J

36. Four integers are added to a group of
Integers 3, 4, 5,5 and 8 and the mean, median
and mode of the data increases by 1 each.
What is the greatest integer in the new group

of integers?

o Watch Video Solution

37. Find the median of first 5 natural numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_qiwJQ5FNTAVU
https://dl.doubtnut.com/l/_JIj4Lq6T81Hl
https://dl.doubtnut.com/l/_vROgQl0AhbLJ

38. Find the median of the data 13, 16, 12, 14, 19,

12,14, 13, 14.

° Watch Video Solution

39. Find the median of the data 24, 36, 46, 17,

18, 25, 35.

o Watch Video Solution



https://dl.doubtnut.com/l/_vROgQl0AhbLJ
https://dl.doubtnut.com/l/_9CL3sn4kCyIj
https://dl.doubtnut.com/l/_dcknlBddvksk

40. Find the mode of the data 3, 5, 9, 6, 5, 9, 2,

93,5.

° Watch Video Solution

41. Long jumps by 7 students of a team are
98cm, 125cm, 140cm, 155cm, 174cm, 140cm and

I55cm. Find the mode of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_hWAlULeic6vv
https://dl.doubtnut.com/l/_GI7alIw51v3V

42. Find the median of 49, 48, 15, 20, 28, 17, 14

and 110.

o Watch Video Solution

43. How many distinct sets of three positive
integers have a mean of 6, a median of 7, and

no mode?

o Watch Video Solution



https://dl.doubtnut.com/l/_7Jz6g9GQ1ZH0
https://dl.doubtnut.com/l/_MWXxMcd8odYN

44, Draw a bar graph for the following data.

Population of India in successive census years-

—

Year 1941 1951 1961 1971 1981 199] 2001
Populatbon (in millions)
rohummirs 320 | 360 | 440 | S50 | es0 | S0 | 1000

O Watch Video Solution

45. Draw a pie chart for the following data.

Health |Clothing |Education | Swvings
IRTS

' 7500

Nemmi of expenaiiure Foul
1878 1200

Amound spend In rupees AT80

° Watch Video Solution



https://dl.doubtnut.com/l/_XbmsnNiWRFBW
https://dl.doubtnut.com/l/_GL34bn4ke0JA

46. Draw a double bar graph for the following

data. Birth and Death rates of different states

[ State Birth Rate (Per 1000) | Death Rate (Per 1000) |
i Andhra Pradesh 2 8 -
Karnataks . 2 u.
Tumil Nad 19 8
Kesala - 18 6
Maharashtra 21 8 | _
in 1999, L™ : = 4

o Watch Video Solution

47. Draw a pie chart for the following data.
Time spent by a child during a day-

'!1m-|--;|ruml'ur _Hlnp . Suluml Play Othars
Thine spent 8 s I shes 2hrs 8 hes



https://dl.doubtnut.com/l/_2e7GklsB1wrL
https://dl.doubtnut.com/l/_TYc7mDSt8hBb

° Watch Video Solution

48. The adjoining pie chart gives the
expenditure on various items during a month
for a family. (The numbers written around the
pie chart tell us the angles made by each
sector at the centre.)

Answer the following-


https://dl.doubtnut.com/l/_TYc7mDSt8hBb
https://dl.doubtnut.com/l/_ME8rsMeXpshI

[[]5mme: [§¥] Education [E]Rent [ ] Food

On which item is the expenditure minimum?

° Watch Video Solution

49. Draw a bar diagram representing the

following

data.

Year 1982

1983

1984

No.ol B & WTV

sels Produced in [ndia | 5.7

i lakhs

6.6

18.0

| 1987

ELEL

1990

580

1000



https://dl.doubtnut.com/l/_ME8rsMeXpshI
https://dl.doubtnut.com/l/_l6ZCN7JQtF76

° Watch Video Solution

50. Kapildev is a Cricketer who created a world
record by taking 432 wickets in Test Cricket.
Here is a table giving the number of wickets

taken by him against each Country. Represent


https://dl.doubtnut.com/l/_l6ZCN7JQtF76
https://dl.doubtnut.com/l/_eLFSmxq6OUQR

the data in a pie diagram.

Country No. of wichets taben

South :H'rh:l
Neweealagnad
England
Pakistan
Wit Indies
Australis
Srilanks
Zimbabwe

3

|l 232 2828 =

o Watch Video Solution



https://dl.doubtnut.com/l/_eLFSmxq6OUQR

51. Out of a total of 100 schools in a locality
management-wise division is given below: Zilla
Praja Parishad — 60, Private Management —
22, Municipality — 16, Government — 6.

Represent the above data in a pie diagram.

o Watch Video Solution

52. Maximum day time temperatures of
Hyderabad in a week (from 26th February to

4th  March, 2011) are recorded as


https://dl.doubtnut.com/l/_5cX0NXHsgkTO
https://dl.doubtnut.com/l/_ybdfH2BHBlGc

26°C,27°C,30°C,30°C,32°C,33°C and
32°C : What is the average temperature of

the week?

° Watch Video Solution

53. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as
26°C,27°C,30°C, 30°C,32°C,33°C and
32°C : What is the average temperature of

the week?

| e |


https://dl.doubtnut.com/l/_ybdfH2BHBlGc
https://dl.doubtnut.com/l/_JUbhtTWmolLo

& Wwatch Video Solution I

54.1n a set of four Integers, the average of the
two smallest integers is 102, the average of
the three smallest integers is 103, the average
of all four is 104. Which is the greatest of

these integers?

° Watch Video Solution

55. Long jumps by 7 students of a team are

98cm, 125cm, 140cm, 155cm, 174cm, 140cm and


https://dl.doubtnut.com/l/_JUbhtTWmolLo
https://dl.doubtnut.com/l/_iVMpGAj2bqDu
https://dl.doubtnut.com/l/_CzU3gwuCaY87

I55cm. Find the mode of the data.

o Watch Video Solution

56. Find the mode of the following data 12, 24,
36, 46, 25, 38, 72, 36, 25, 38, 12, 24, 46, 25,12,24

46,25,72,12, 24, 36, 25,38 and 36.

o Watch Video Solution

57. Four integers are added to a group of

Integers 3, 4, 5,5 and 8 and the mean, median


https://dl.doubtnut.com/l/_CzU3gwuCaY87
https://dl.doubtnut.com/l/_PGVxFHbXsyjc
https://dl.doubtnut.com/l/_gFrUQ2BwDPjL

and mode of the data increases by 1 each.
What is the greatest integer in the new group

of integers?

° Watch Video Solution

58. The number of passengers who travelled In
RTC bus from Adilabad to Nirmal in 4 trips in a
day are 39, 30, 45 and 54.What is the average
number of passengers travelling per trip in a

day?

° Watch Video Solution



https://dl.doubtnut.com/l/_gFrUQ2BwDPjL
https://dl.doubtnut.com/l/_ppx0WoHoD3pz

59. Find the mean of the first ten natural

numbers.

° Watch Video Solution

60. Find the mean of the first five prime

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_ppx0WoHoD3pz
https://dl.doubtnut.com/l/_3PIjsV0TFjlg
https://dl.doubtnut.com/l/_64hppE4yieZV

61. Observations of a data are 16, 72, O, 55,
65,55, 10 and 41. Chaitanya calculated the
mode and median without taking the zero into
consideration. Did Chaitanya do the right

thing?

o Watch Video Solution

62. Draw a bar graph for the following data.

Population of India in successive census years-

Year 1941 1951 1961 1971 1981 193] 2001
Pﬂm.lEhn (in mcllllum}

{nppros) 20

360 A 550 L E%0 1000



https://dl.doubtnut.com/l/_Tzfg1KAmKYu6
https://dl.doubtnut.com/l/_Ou329tr779C6

I o Watch Video Solution

63. Draw a pie chart for the following data.

Health | Clothing
1878 ‘ 1675

Food
AT80

Temm of expenaditure

Bducation | Savings
1200 T500

Amaunl spend In rupees

° Watch Video Solution

64. The adjoining pie chart gives the
expenditure on various items during a month
for a family. (The numbers written around the

pie chart tell us the angles made by each


https://dl.doubtnut.com/l/_Ou329tr779C6
https://dl.doubtnut.com/l/_FjhIqyd2mKg8
https://dl.doubtnut.com/l/_sfb80M9v6PUb

sector at the centre.)

Answer the following-

[[]5mmz: [o¥] Education [iRent [ ] Food

On which item is the expenditure minimum?

° Watch Video Solution



https://dl.doubtnut.com/l/_sfb80M9v6PUb

65. The following table shows the marks
scored by Anju, Neelu and Lekhya in four unit
tests of English. i) Find the average marks
obtained by Lekhya. ii) Find the average marks
secured by Anju. Will you divide the total
marks by 3 or 4? Why? iii) Neelesh has given all
four tests. Find the average marks secured by
him. Will you divide the total marks by 3 or 4?

Why? iv) Who performed best in the English?

Mamie of the Student Unit Test 1 | Umnbt Test 1T | Undt Test IIT | Undt Test TV

Anju

.M:ucn_t

%

23

21

Meslesh

20

24

Lekhya

0

24

4

° Watch Video Solution



https://dl.doubtnut.com/l/_1oMFyqLALc86

66. Decide whether mean or mode is a better
representative value in the, following
situations. i) A shopkeeper, who sells tooth
paste tubes of different sizes, wants to decide
which size is to be ordered more. ii) An
invigilator wants to bring sufficient number of
additional papers to the examination hall. iii)
Preparation of the number of laddus for a
marriage. iv) For finding the favorite cricketer

in a class.

O Watch Video Solution



https://dl.doubtnut.com/l/_1oMFyqLALc86
https://dl.doubtnut.com/l/_uTXh48DL9T3R

67. Say true or false and why? The difference
between the largest and smallest observations

in a data set is called the mean.

° Watch Video Solution

68. Say true or false and why? In a bar graph,
the bar which has the greater length indicates

mode.

° Watch Video Solution



https://dl.doubtnut.com/l/_uTXh48DL9T3R
https://dl.doubtnut.com/l/_3XjGP39ab6yy
https://dl.doubtnut.com/l/_8e1WRp1XAPEC

69. Say true or false and why? Value of every
observation in the data set is taken into

account when median is calculated.

° Watch Video Solution

70.Say true or false and why? The median of a

set of numbers is always one of the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_8e1WRp1XAPEC
https://dl.doubtnut.com/l/_cYG0BsJw38vc
https://dl.doubtnut.com/l/_9CxlVpKKlGUi
https://dl.doubtnut.com/l/_ZYpXOwLTIAFp

71. In a village three different crops are
cultivated in four successive years. The profit
(in rupees) on the crops, per acre is shown in
the table below. i) Calculate the mean profit
for each crop over the 4 years. ii) Based on

your answers, which crop should be cultivated

in the next year?
Crogp | 2008 | 2008 | 2007 (2008
Caroainal muvis | TONR) | BOOO | TS00 | 7500
Jawnr G000 | 100D | BODD | 1000
Millets SO | SO | SOnOud | b

° Watch Video Solution



https://dl.doubtnut.com/l/_ZYpXOwLTIAFp
https://dl.doubtnut.com/l/_C9LUBaifsNu4

72.Fill in the blanks: The mean of 2,4, 6 is..........

° Watch Video Solution

73. Fill in the blanks: The Am of first 11 natural

numbers is..........

o Watch Video Solution

74. Fill in the blanks: Range of first 10 natural

numbers is..........

l ° Watch Video Solution


https://dl.doubtnut.com/l/_C9LUBaifsNu4
https://dl.doubtnut.com/l/_dZcTMJFvDLYP
https://dl.doubtnut.com/l/_15hwgqAYoKxa

75. Fill in the blanks: The median of 3, 5, 4, 12,

o Watch Video Solution

76. Fill in the blanks: Median of 49, 48, 15, 20,

28,17,14 and 10 is..........

° Watch Video Solution



https://dl.doubtnut.com/l/_15hwgqAYoKxa
https://dl.doubtnut.com/l/_5HjtW6L34lMK
https://dl.doubtnut.com/l/_8Hj4icEeZX0n

77. Fill in the blanks: In a class there are 36
boys and 24 girls the sector angle showing the

boys in pie diagram is..........

o Watch Video Solution

78. Fill in the blanks: A certain man saves 309%
of his income. The angle of the sector

indicating his savings..........

o Watch Video Solution



https://dl.doubtnut.com/l/_WiaYfTQMR6Xh
https://dl.doubtnut.com/l/_fOVddhnuVjqW
https://dl.doubtnut.com/l/_rqfTBN3p8wFj

79. Fill in the blanks: If the scale of a graph is

1cm =10,000 km then 2.8 cm =..........

o Watch Video Solution

80. Fill in the blanks: If 1cm = 10 crores then

the length of the bar to represent 25 crores

o Watch Video Solution



https://dl.doubtnut.com/l/_rqfTBN3p8wFj
https://dl.doubtnut.com/l/_L7ZQqp3IlQlk

81. Fill in the blanks: In a given data three
angles are in the ratio 2:3:4. The angle of the
largest sector when the given data is

represented in pie diagram is..........

o Watch Video Solution

82. A data of 10 observations has a minimum

value 15 and maximum value 25. What is the

mean of the data?

A a.12


https://dl.doubtnut.com/l/_UzQIKXoXjynT
https://dl.doubtnut.com/l/_LyBKKNkZqSC6

B.b.17

C.c. 27

D.d. 14

Answer:

o Watch Video Solution

83. Observations of a data are 23, 45, 33, 21, 48,
30, 34, 36 and 35. Without actual calculation

choose the mean of the data.


https://dl.doubtnut.com/l/_LyBKKNkZqSC6
https://dl.doubtnut.com/l/_2YoV3GA2vnFC

A. 20

B.35

C. 48

D. 50

Answer:

° Watch Video Solution

84. The information collected is called ..........

A. Data


https://dl.doubtnut.com/l/_2YoV3GA2vnFC
https://dl.doubtnut.com/l/_YVqEkr1Swk9m

B. Score

C. Mode

D. None

Answer:

o Watch Video Solution

(Sum of observations)

85. = .

(Number of observations)

A. Mode

B. Median


https://dl.doubtnut.com/l/_YVqEkr1Swk9m
https://dl.doubtnut.com/l/_zRJzsYsn2mNr

C. Mean

D. None

Answer:

° Watch Video Solution

86. The middle most value in a data is

called..........

o Watch Video Solution



https://dl.doubtnut.com/l/_zRJzsYsn2mNr
https://dl.doubtnut.com/l/_Dqq5aaAr9H8e

87. The observation which occurs most

frequently in a data is called.........

° Watch Video Solution

88. Sum of the central angles in a circle is

A.180°

B.90°

C.360°


https://dl.doubtnut.com/l/_TSahPmmDxf5T
https://dl.doubtnut.com/l/_e0Jo4LiJtmVt

D. 300°

Answer:

o Watch Video Solution

89. Most dependable average is.........

A. Range

B. Mean

C. Median

D. Mode


https://dl.doubtnut.com/l/_e0Jo4LiJtmVt
https://dl.doubtnut.com/l/_4Vrc7XbTwfVL

Answer:

o Watch Video Solution

90......... is based on all observations.

A. Median

B. Mode

C. Mean

D. None

Answer:


https://dl.doubtnut.com/l/_4Vrc7XbTwfVL
https://dl.doubtnut.com/l/_sNJEQGvNzLGO

° Watch Video Solution

ol..... of all bars is same in bar graph.

A. Width

B. Length

C. Area

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sNJEQGvNzLGO
https://dl.doubtnut.com/l/_DpYL56XjJa6A

92. Pie diagram consists of ........

A. Rectangles

B. Circles

C. Sectors

D. Squares

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DpYL56XjJa6A
https://dl.doubtnut.com/l/_a0yg7MhRPZb6

93. In bar graphs Is not same

A. Length

B. Width

C. Mean

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ymSEO31qcVO8

1. Earnings (in rupees) of a vegetable vendor in
a week are 3200, ¥150, ¥180, 300, ¥160, ¥170

and ¥170. Find his average earning, per day.

o Watch Video Solution

2. In a family, ages (in years) of members,
Krishna, Radhika, Niharika and Nikhil are 44,
39, 17 and 12 : Find the arithmetic mean of

their ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_7pvZp9q9y2Wd
https://dl.doubtnut.com/l/_wnCf6QGyLsXK

3. A shop keeper wants to find out which
cooking oil he should stock in more number.
For this, he maintains a record of cooking oil
sale for the week in the form of the table given
below.In such a situation will calculating the
mean number of oil packets sold help the

shopkeeper to take a decision?

Day Packets of oil sold
Mon GGGSSSSPP

Tue GGGSSSSSPP
Wed GGSSSSSP

Thu GGGSSSP

Fn GGGSSPP

Sat (GSS555888

Sun GGGSSSP

° Watch Video Solution



https://dl.doubtnut.com/l/_wnCf6QGyLsXK
https://dl.doubtnut.com/l/_nA9zz6L5MtGc

4. Find the mode of the given set of numbers

2,3,5,3,4,7,3,2,1,7,3.

o Watch Video Solution

5.Find the mode of the data 3,5, 9, 6, 5, 9, 2, 9,

3,5.

o Watch Video Solution



https://dl.doubtnut.com/l/_nA9zz6L5MtGc
https://dl.doubtnut.com/l/_d0x63YjiXkpt
https://dl.doubtnut.com/l/_LmM14gwORsW4

6. Following are the marks obtained by 50
students in a unit test, which is administered

for 10 marks. Find the mode of the data.

Marks obtamed No of students
00 2
1 1
. 2
3 1
f-—_
5 4
] 10
7 15
5 o |
9 3
10 1
Toital 50

l o WMiabkAl V20 dac CAli ikl am


https://dl.doubtnut.com/l/_j73dQQ5zmBSr

YVAilll VIUCUV JUVIULIVII ) )

7. In which of the following situations, is the
mode an appropriate representative value? A
shopkeeper selling shirts, needs to decide

which size of shirts to order more.

o Watch Video Solution

8. In which of the following situations, is the
mode an appropriate representative value?

For purchasing rice for a party of 20 people.



https://dl.doubtnut.com/l/_j73dQQ5zmBSr
https://dl.doubtnut.com/l/_vOUXRanZQhUI
https://dl.doubtnut.com/l/_0ldHw0P2q5wj

o Watch Video Solution

9. In which of the following situations, is the
mode an appropriate representative value?

For purchasing rice for a party of 20 people.

o Watch Video Solution

10. The monthly incomes of 7 graduates is
38000, ¥9000, ¥8200, ¥7900, ¥8500, ¥8600 and

¥60000. Find the median income.

| & I


https://dl.doubtnut.com/l/_0ldHw0P2q5wj
https://dl.doubtnut.com/l/_XmBm4AZ8nELD
https://dl.doubtnut.com/l/_bxZaLGWu1iUV

| ¥ Watch Video Solution |

11. Find the median of 49, 48, 15, 20, 28, 17, 14

and 110.

° Watch Video Solution

12. The following are the marks in Maths and

Science of five students in class VIl. Present


https://dl.doubtnut.com/l/_bxZaLGWu1iUV
https://dl.doubtnut.com/l/_6MOWFSPj7hPI
https://dl.doubtnut.com/l/_9MBLmjjpBmBJ

this data in the form of a double bar graph.

Seience

° Watch Video Solution

13. Earnings (in rupees) of a vegetable vendor
in a week are ¥200, ¥150, ¥180, ¥300, ¥160,¥170

and ¥170. Find his average earning, per day.

° Watch Video Solution



https://dl.doubtnut.com/l/_9MBLmjjpBmBJ
https://dl.doubtnut.com/l/_GfWSD796k4lV

14. In a family, ages (in years) of members,
Krishna, Radhika, Niharika and Nikhil are 44,
39, 17 and 12 : Find the arithmetic mean of

their ages.

o Watch Video Solution

15. In a family, ages (in years) of members,
Krishna, Radhika, Niharika and Nikhil are 44,
39, 17 and 12 :What were their ages 5 years

before ? Find their mean age.



https://dl.doubtnut.com/l/_GfWSD796k4lV
https://dl.doubtnut.com/l/_Ufux7mQ0CNGt
https://dl.doubtnut.com/l/_ZZmY6mVPukGZ

[ ° Watch Video Solution

16. In a family, ages (in years) of members,
Krishna, Radhika, Niharika and Nikhil are 44,
39,17 and 12.

Can you see a relationship between the

change in mean and the number of years.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZZmY6mVPukGZ
https://dl.doubtnut.com/l/_EUTbuDJd1l52

17. Find the mode of the given set of numbers-

2,3,5,3,4,7,3,2,1,7,3,3,1,3

o Watch Video Solution

18. Find the mode of the data 3, 5,9, 6, 5,9, 2, 9,

3,5.

o Watch Video Solution



https://dl.doubtnut.com/l/_S0TAuRsq1occ
https://dl.doubtnut.com/l/_RBDOQqelvMpf

19. In which of the following situations, is the
mode an appropriate representative value? A
shopkeeper selling shirts, needs to decide

which size of shirts to order more.

o Watch Video Solution

20. In which of the following situations, is the
mode an appropriate representative value?

For purchasing rice for a party of 20 people.

o Watch Video Solution



https://dl.doubtnut.com/l/_fnAtqnXa0Bmv
https://dl.doubtnut.com/l/_XgAkjVsOmVgH

21. In which of the following situations, is the
mode an appropriate representative value?

For purchasing rice for a party of 20 people.

° Watch Video Solution

22. The monthly incomes of 7 graduates is
38000, ¥9000, ¥8200, ¥7900, ¥8500, ¥8600 and

¥60000. Find the median income.

° Watch Video Solution



https://dl.doubtnut.com/l/_XgAkjVsOmVgH
https://dl.doubtnut.com/l/_ELcA0XlrxXfo
https://dl.doubtnut.com/l/_nvN1HlYSD960

23. Find the median of 49, 48, 15, 20, 28, 17, 14

and 10.

o Watch Video Solution

1. Look at your school information board. Do

you find any data tables there? Find out who

uses this data.

o Watch Video Solution



https://dl.doubtnut.com/l/_exJXZXPwaBA2
https://dl.doubtnut.com/l/_3YuKashyvTa2

2. The ages (in years) of players are in a team
of 16, 16, 16, 14, 17, 18. Then find the following:
(1) Age of the youngest and the oldest player.
(i) Mean age of the players.

What is the average number of glasses of
water that you drink per day? in a week. How

did you find the average?

o Watch Video Solution



https://dl.doubtnut.com/l/_3YuKashyvTa2
https://dl.doubtnut.com/l/_D9PO0aR4lRE6

3. A data of 10 observations has a minimum

value 15 and maximum value 25. What is the

mean of the data?

o Watch Video Solution

4.0Observations of a data are 23, 45, 33, 21, 48,
30, 34, 36 and 35. Without actual calculation

choose the mean of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_9jt1l4EKggum
https://dl.doubtnut.com/l/_TEOcdUehRk6B
https://dl.doubtnut.com/l/_o5VGV9rc6T8y

5. Find the modes of the following data.

5,7,4,5,6,2,5,2,4,7,5

o Watch Video Solution

6. Find the modes of the following data.

26, 15,19, 16, 18, 17, 20, 14, 13, 25

o Watch Video Solution



https://dl.doubtnut.com/l/_o5VGV9rc6T8y
https://dl.doubtnut.com/l/_pAwPLZgt8uqj

7.Find the modes of the following data.

10, 16, 10, 16, 20, 10, 16, 20, 10

o Watch Video Solution

8. One situation where mean would be an

appropriate representative value.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ko4Goq3hLKAF
https://dl.doubtnut.com/l/_puBBcOLQz2Ry

9. One situation where mode would be an

appropriate representative value.

° Watch Video Solution

10. Look at your school information board. Do
you find any data tables there? Find out who

uses this data.

° Watch Video Solution



https://dl.doubtnut.com/l/_HFzL9IXuSQq5
https://dl.doubtnut.com/l/_N3Nu153qwTO2

11. The ages (in years) of players are in a team
of 16, 16, 16, 14, 17, 18. Then find the following:
(i) Age of the youngest and the oldest player.
(ii) Mean age of the players.

What is the average number of glasses of
water that you drink per day? in a week. How

did you find the average?

o Watch Video Solution



https://dl.doubtnut.com/l/_myZQhCxk0tIp

12. What is the average number of glasses of
water that you drink per day in a week? How

did you find the average?

o Watch Video Solution

13. A data of 10 observations has a minimum

value 15 and maximum value 25. What is the

mean of the data?

A. 12

B.15


https://dl.doubtnut.com/l/_RIjemDWMcYP5
https://dl.doubtnut.com/l/_Vkflz1ipH45u

C. 21

D. 27

Answer:

O Watch Video Solution

14. Observations of a data are 23, 45, 33, 21, 48,
30, 34, 36 and 35. Without actual calculation

choose the mean of the data.

A. 20


https://dl.doubtnut.com/l/_Vkflz1ipH45u
https://dl.doubtnut.com/l/_yxNmudDMvxN0

B.35

C. 48

D. 50

Answer:

o Watch Video Solution

15. Find the modes of the following data. 5, 6,

3,5,4,9,56,4,9,5

° Watch Video Solution



https://dl.doubtnut.com/l/_yxNmudDMvxN0
https://dl.doubtnut.com/l/_ZP0uHFJS8sCu

16. Find the modes of the following data.

25,14,18,15,17,16,19, 13,12, 24

o Watch Video Solution

17. Find the modes of the following data. 10, 15,

20,15, 20, 10, 15, 20, 10

o Watch Video Solution



https://dl.doubtnut.com/l/_PBqum3cJXfcX
https://dl.doubtnut.com/l/_o94vJG0EVMLY

18. One situation where mean would be an

appropriate representative value.

o Watch Video Solution

19. One situation where mode would be an

appropriate representative value.

o Watch Video Solution



https://dl.doubtnut.com/l/_Er2dOD346l6X
https://dl.doubtnut.com/l/_Dx3mOEGQaUKx
https://dl.doubtnut.com/l/_YvnQoMX8z85O

1. In a unit test Amar secured 20, 18, 23, 21, 24
and 22 marks in Telugu, Hindi, English,
Mathematics, Science and Social Science
respectively. Peter got 23, 21, 20, 19, 24 and 17
marks in the above subjects respectively.

Interpret the data in an organized manner.

o Watch Video Solution

2.In a unit test Amar secured 20, 18, 23, 21, 24
and 22 marks in Telugu, Hindi, English,

Mathematics, Science and Social Science


https://dl.doubtnut.com/l/_YvnQoMX8z85O
https://dl.doubtnut.com/l/_pGYOmkLPkqUu

respectively. Peter got 23, 21, 20, 19, 24 and 17
marks in the above subjects respectively.

Interpret the data in an organized manner.

o Watch Video Solution

1. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as

26°C,27°C, 30°C, 30°C, 32°C,33°C and


https://dl.doubtnut.com/l/_pGYOmkLPkqUu
https://dl.doubtnut.com/l/_7qyqMI0ZDbTf

32°C : What is the maximum temperature of

the week?

° Watch Video Solution

2. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as
26°C,27°C,30°C,30°C,32°C,33°C and
32°C : What is the average temperature of

the week?

o Watch Video Solution



https://dl.doubtnut.com/l/_7qyqMI0ZDbTf
https://dl.doubtnut.com/l/_7Bihsui8JVOx

3. Rice consumed in a school under the mid-
day meal program for 5 consecutive days is
15.750 kg, 14.850 kg, 16.500 kg, 14.700 kg, and
17.700 kg. Find the average rice consumption

for the 5 days.



https://dl.doubtnut.com/l/_7Bihsui8JVOx
https://dl.doubtnut.com/l/_gR3rzwfEgNPm

° Watch Video Solution

4. In a village three different crops are
cultivated in four successive years. The profit
(in rupees) on the crops, per acre is shown in

the table below-

Crop~Lor | 2005 2006 2007 2008
Groundnuts| 7000 8000 7500 7500
Jawar 6000 1000 8000 1000
Millets 9000 5000 3000 4000

(i) Calculate the mean profit for each crop over

the 4 years.


https://dl.doubtnut.com/l/_gR3rzwfEgNPm
https://dl.doubtnut.com/l/_z6v9idctshAT

(i) Based on your answers, which crop should

be cultivated in the next year?

° Watch Video Solution

5. The number of passengers who travelled in
APSRTC bus from Adilabad to Nirmal in 4 trips
in a day are 39, 30, 45 and 54. What is the
occupancy ratio (average number of

passengers travelling per trip) of the bus for


https://dl.doubtnut.com/l/_z6v9idctshAT
https://dl.doubtnut.com/l/_x71tRMTp3KIM

° Watch Video Solution

6. The following table shows the marks scored

by Anju, Neelesh and Lekhya in four unit tests

of English.
Name of the Student | Unit Test I | Unit Test IT | Unit Test III | Unit Test IV
Anju Absent 19 23 21
Neelesh 0 20 22 24

Lekhya 20 24 24 24



https://dl.doubtnut.com/l/_x71tRMTp3KIM
https://dl.doubtnut.com/l/_au65zOY5HIbJ

(1) Find the average marks obtained by Lekhya.
(ii)

Find the average marks secured by Anju. Will
you divide the total marks by 3 or 4? Why?

(i) Neelesh has given all four tests. Find the
average marks secured by him. Will you divide
the total marks by 3 or 4? Why?

(iv) Who performed best in the English?

o Watch Video Solution



https://dl.doubtnut.com/l/_au65zOY5HIbJ

7. Three friends went to a hotel and had
breakfast to their taste, paying %16, ¥17 and
¥21 respectively i) Find their mean
expenditure. ii) If they have spent 3 times the
amount that they have already spent, what
would their mean expenditure be? iii) If the
hotel manager offers 50% discount, what
would their mean expenditure be? iv) Do you
notice any relationship between the change in
expenditure and the change n mean

expenditure?

° Watch Video Solution



https://dl.doubtnut.com/l/_kw15cxIeaP8z

8. Find the mean of the first ten natural

numbers.

o Watch Video Solution

9. Find the mean of the first five prime

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_kw15cxIeaP8z
https://dl.doubtnut.com/l/_rz26s7JzwvKh
https://dl.doubtnut.com/l/_sQH36pvvjkON

10. In a set of four integers, the average of the
two smallest integers is 102, the average of
the three smallest integers is 103, the average
of all four is 104. Which is the greatest of

these integers?

o Watch Video Solution

11. Write at least two questions to find the

mean, giving suitable data.

° Watch Video Solution



https://dl.doubtnut.com/l/_ExYHwagsay95
https://dl.doubtnut.com/l/_Q9iNODslwywS

12. Maximum day time temperatures of
Hyderabad in a week (from 26th February to
4th  March, 2011) are recorded as
26°C,27°C,30°C,30°C,32°C,33°C and
32°C : What is the maximum temperature of

the week?

o Watch Video Solution

13. Maximum day time temperatures of

Hyderabad in a week (from 26th February to


https://dl.doubtnut.com/l/_Q9iNODslwywS
https://dl.doubtnut.com/l/_vgn3O9iEKR8B
https://dl.doubtnut.com/l/_Ql18Q50CCZnS

4th  March, 2011) are recorded as
26°C,27°C,30°C, 30°C,32°C,33°C and
32°C : What is the average temperature of

the week?

° Watch Video Solution

14. Three friends went to a hotel and had
breakfast to their taste, paying %16, ¥17 and
¥21 respectively i) Find their mean
expenditure. ii) If they have spent 3 times the

amount that they have already spent, what


https://dl.doubtnut.com/l/_Ql18Q50CCZnS
https://dl.doubtnut.com/l/_1zA8NmvHOIsn

would their mean expenditure be? iii) If the
hotel manager offers 50% discount, what
would their mean expenditure be? iv) Do you
notice any relationship between the change in
expenditure and the change n mean

expenditure?

° Watch Video Solution

15. Find the mean of the first ten natural

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_1zA8NmvHOIsn
https://dl.doubtnut.com/l/_EybhzY1Kmp7r

16. Find the mean of the first five prime

numbers.

° Watch Video Solution

17.1n a set of four integers, the average of the
two smallest integers is 102, the average of
the three smallest integers is 103, the average
of all four is 104. Which is the greatest of

these integers?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_EybhzY1Kmp7r
https://dl.doubtnut.com/l/_CErAwRPZVHmp
https://dl.doubtnut.com/l/_ztBMkeYQjunX

18. Write at least two questions to find the

mean, giving suitable data.

o Watch Video Solution

1. Long jumps by 7 students of a team are

98cm, 125cm, 140cm, 155cm, 174cm, 140cm and

I55cm. Find the mode of the data.



https://dl.doubtnut.com/l/_ztBMkeYQjunX
https://dl.doubtnut.com/l/_lo2RLLUut7mK
https://dl.doubtnut.com/l/_qZnXY5NLIVsP

o Watch Video Solution

2. Ages of players in a cricket team are 25, 26,
25, 27, 28, 30, 31, 27, 33, 27, 29. (i) Find the mean
and mode of the data.(ii) Find the minimum
number of players to be added to the above
team so that mode of the data changes and

what must be their ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_qZnXY5NLIVsP
https://dl.doubtnut.com/l/_fhsUP6lffFob

3. Find the mode of the following data 12, 24,
36, 46, 25, 38, 72, 36, 25, 38, 12, 24, 46, 25,12,24

46,25,72,12, 24, 36, 25, 38 and 36.

o Watch Video Solution

4. Decide whether mean or mode is a better
representative value in the following

situations.


https://dl.doubtnut.com/l/_uxnhtBsOwWrs
https://dl.doubtnut.com/l/_wFATEEjsCCwA

A shop keeper, who sells tooth paste tubes of
different sizes, wants to decide which size is to

be ordered more.

° Watch Video Solution

5. Decide whether mean or mode is a better

representative value in the following


https://dl.doubtnut.com/l/_wFATEEjsCCwA
https://dl.doubtnut.com/l/_w8rb6UzA75tp

situations.

An invigilator wants to bring sufficient number

of additional papers to the examination hall

o Watch Video Solution

6. Decide whether mean or mode is a better
representative value in the following

situations.


https://dl.doubtnut.com/l/_w8rb6UzA75tp
https://dl.doubtnut.com/l/_U4TvKqCwsINf

Preparation of the number of laddus for a

marriage.

o Watch Video Solution

7. Decide whether mean or mode is a better
representative value in the following

situations.


https://dl.doubtnut.com/l/_U4TvKqCwsINf
https://dl.doubtnut.com/l/_sdy2acumMKht

For finding the favorite cricketer in a class.

o Watch Video Solution

8. Long jumps by 7 students of a team are
98cm, 125cm, 140cm, 155cm, 174cm, 140cm and

I55cm. Find the mode of the data.

| = 1


https://dl.doubtnut.com/l/_sdy2acumMKht
https://dl.doubtnut.com/l/_hqU8CQPCbea7

I &9 Watch Video Solution I

9. Ages of players in a cricket team are 25, 26,
25, 27,28, 30, 31, 27,33, 27, 29.

Find mode of the data.

° Watch Video Solution

10. Ages of players in a cricket team are 25, 26,
25, 27,28, 30, 31, 27,33, 27, 29.

Find the minimum number of players to be


https://dl.doubtnut.com/l/_hqU8CQPCbea7
https://dl.doubtnut.com/l/_yPRWIjKe01Sv
https://dl.doubtnut.com/l/_o8Q6t2sXVVTq

added to the above team so that mode of the

data changes and what must be their ages

° Watch Video Solution

11. Find the mode of the following data 12, 24,
36, 46, 25, 38, 72, 36, 25, 38, 12, 24, 46, 25,12,24

46,25,72,12, 24, 36, 25, 38 and 36.

° Watch Video Solution



https://dl.doubtnut.com/l/_o8Q6t2sXVVTq
https://dl.doubtnut.com/l/_N3VT365LoLrs
https://dl.doubtnut.com/l/_UkdDuhI6LBpV

1. Say true or false and why? The difference
between the largest and smallest observations

in a data set is called the mean.

o Watch Video Solution

2. Say True or False and why ? In a bar graph,
the bar which has greater length may contains

mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_UkdDuhI6LBpV
https://dl.doubtnut.com/l/_uXoqRmpLCA44
https://dl.doubtnut.com/l/_964PbE8AM4wy

3. Say true or false and why? Value of every
observation in the data set is taken into

account when median is calculated.

o Watch Video Solution

4. Say true or false and why? The median of a

set of numbers is always one of the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_964PbE8AM4wy
https://dl.doubtnut.com/l/_iMhqvqgAP45f

5. The monthly income (in rupees) of 7
households in a village are 1200, 1500, 1400,
1000, 1000, 1600, 10000. (i) Find the median
income of the house holds. (ii) If one more
household with monthly income of 1500 is

added, what will the median income be?

o Watch Video Solution

6. Observations of a data are 16, 72, 0, 55, 65,55,

10 and 41. Chaitanya calculated the mode and


https://dl.doubtnut.com/l/_uvYaDEs0YfIM
https://dl.doubtnut.com/l/_ESJkQxxTkeIM

median without taking the zero into
consideration. Did Chaitanya do the right

thing?

o Watch Video Solution

7. How many distinct sets of three positive
integers have a mean of 6, a median of 7, and

no mode?

o Watch Video Solution



https://dl.doubtnut.com/l/_ESJkQxxTkeIM
https://dl.doubtnut.com/l/_UO1e7GHC6XlE

8. Four integers are added to a group of
Integers 3, 4, 5,5 and 8 and the mean, median
and mode of the data increases by 1 each.
What is the greatest integer in the new group

of integers?

o Watch Video Solution

9. Say true or false and why? The difference
between the largest and smallest observations

in a data set is called the mean.

| & I


https://dl.doubtnut.com/l/_asUI6CvST6wD
https://dl.doubtnut.com/l/_SN5aYQXH6D9j

| ¥ Watch Video Solution |

10. Say true or false and why? In a bar graph,
the bar which has the greater length indicates

mode.

o Watch Video Solution

11. Say true or false and why? Value of every
observation in the data set is taken into

account when median is calculated.

o Watch Video Solution



https://dl.doubtnut.com/l/_SN5aYQXH6D9j
https://dl.doubtnut.com/l/_FwdTLl6gqsgz
https://dl.doubtnut.com/l/_7o3UeUf1q7A6

12. Say true or false and why? The median of a

set of numbers is always one of the numbers.

° Watch Video Solution

13. The monthly income (in rupees) of 7
households in a village are 1200, 1500, 1400,
1000, 1000,1600, 10000.Find the median

income of the households.

o Watch Video Solution



https://dl.doubtnut.com/l/_7o3UeUf1q7A6
https://dl.doubtnut.com/l/_IoDS8K01tem2
https://dl.doubtnut.com/l/_RtoFeLuJiJMT

14. The monthly income (in rupees) of 7
households in a village are 1200, 1500, 1400,
1000, 1000,1600, 10000. If one more household
with monthly income of Rs. 1500 is added,

what will the median income be?

o Watch Video Solution

15. Observations of a data are 16, 72, O, 55,
65,55, 10 and 41. Chaitanya calculated the

mode and median without taking the zero into


https://dl.doubtnut.com/l/_RtoFeLuJiJMT
https://dl.doubtnut.com/l/_V4r9SxxwkEj9
https://dl.doubtnut.com/l/_k68KI3z1a9aq

consideration. Did Chaitanya do the right

thing?

° Watch Video Solution

16. How many distinct sets of three positive
integers have a mean of 6, a median of 7, and

no mode?

° Watch Video Solution



https://dl.doubtnut.com/l/_k68KI3z1a9aq
https://dl.doubtnut.com/l/_rvNanjqjPuXO

17. Four integers are added to a group of
Integers 3, 4, 5,5 and 8 and the mean, median
and mode of the data increases by 1 each.
What is the greatest integer in the new group

of integers?

o Watch Video Solution



https://dl.doubtnut.com/l/_5PEMMpICgGR9

1. Draw a bar graph for the following data.

Population of India in successive census years-

Year 1941 | 1951 1961 1971 1981 1991 | 2001
Population 320 360 440 550 680 850 1000
(in millions) (approx)

o Watch Video Solution

2.Draw a pie chart for the following data.

Item of expenditure Food Health | Clothing | Education | Savmngs
Amount spent in rupees 3750 1875 1875 1200 7500

° Watch Video Solution



https://dl.doubtnut.com/l/_qjS69cg8RaJb
https://dl.doubtnut.com/l/_pnQcN5aYBeki
https://dl.doubtnut.com/l/_0Yi7dXAP3biP

3. Draw a double bar graph for the following

data. Birth and Death rates of different states

State Birth Rate (Per 1000) | Death Rate (Per 1000) |
Emlm Pradesh n 8 _
Kammh. . iz u-
Tumil Nadn 19 8
Kerala - 18 6
Mdllmh'_t!'a 21 a - -
in 1999, L™ : - M

o Watch Video Solution

4. Draw a pie chart for the following data. Time

spent by a child during a day-

'!1m|-|:|unll'nr . Slewp [ Sl . Play ';.H-hl'l
Thiowe spent 8 hrs I thrs 2hes 8 hrs



https://dl.doubtnut.com/l/_0Yi7dXAP3biP
https://dl.doubtnut.com/l/_qICx0xp3g8Es

‘ o Watch Video Solution

5. The adjoining pie chart gives the
expenditure on various items during a month
for a family. (The numbers written around the
pie chart tell us the angles made by each
sector at the centre.)

Answer the following-


https://dl.doubtnut.com/l/_qICx0xp3g8Es
https://dl.doubtnut.com/l/_hstE3kkW9XbS

[[]5mmz: [o¥] Education [iRent [ ] Food

On which item is the expenditure minimum?

° Watch Video Solution

6. The adjoining pie chart gives the
expenditure on various items during a month

for a family. (The numbers written around the


https://dl.doubtnut.com/l/_hstE3kkW9XbS
https://dl.doubtnut.com/l/_ZTyMgmFScsE6

pie chart tell us the angles made by each
sector at the centre.)

Answer the following-

[[]saving: [o¥] Education [EJRemt [ ] Food

On which item is the expenditure maximum?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTyMgmFScsE6

7. The adjoining pie chart gives the
expenditure on various items during a month
for a family. (The numbers written around the
pie chart tell us the angles made by each
sector at the centre.)

Answer the following-

[[]5avinz: [o¥] Education [iRemt [ ] Food



https://dl.doubtnut.com/l/_7rgUZ7hrSnyi

If the monthly income of the family is Rs 9000,

what is the expenditure on rent?

o Watch Video Solution

8. The adjoining pie chart gives the
expenditure on various Items during a month
for a family. (The numbers written around the
pie chart tell as the angles made by each
sector at the centre). Answer the following : If

the expenditure on food is Rs. 3000 ? What is


https://dl.doubtnut.com/l/_7rgUZ7hrSnyi
https://dl.doubtnut.com/l/_nHLytdPQ954H

the expenditure on education of children?

o Watch Video Solution



https://dl.doubtnut.com/l/_nHLytdPQ954H

